Constants and units

c=2998 x 108 ms!
h=6.626 x 107*]s

— h — —34
h= - =105 x10%]s

N4 = 6.022 x 102 mol ™"
kg =1.381 x 107 2K !
R =8.3145]K ' mol !
= 0.08206 Latmmol ' K~!
m,~ =9.109 x 10~ kg
e=1.602x10"1°C
mye =1.673 x 107 kg
m,o = 1.675 x 10~% kg
ag = 0.5292 x 1071%m
g0 = 8.8542 x 107 2C2N " m2
Ry = 1.097 x 10° cm™*
1IN =1kgms2
1J=1Nm = 1kgm?s 2
1eV =1.602 x 107 17]
Tem ™! =1.986 x 10723]
Tu=1.661x10"%kg
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Trigonometry General quantum mechanics
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Particle in a box
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Rigid rotor
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Spherical Harmonics
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Hydrogen atom
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